
6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

0.15

0.155

0.16

0.165

0.17

0.175

al
ph

a1
3_

4e
X

1X

alpha13_4eX1X:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

2.48

2.49

2.5

2.51

2.52

2.53

2.54

2.55

2.56

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

0.47−

0.465−

0.46−

0.455−

0.45−

0.445−

0.44−

0.435−

0.43−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

0.255

0.26

0.265

0.27

0.275

0.28

0.285

0.29

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

6387

6387.5

6388

6388.5

6389

6389.5

6390

6390.5

6391

ru
n

run:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6389}



6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

92−

90−

88−

86−

84−

82−

80−

78−

76−

us
l_

1X
usl_1X:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

us
l_

4a
Y

usl_4aY:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

52

54

56

58

60

62

64

66

us
l_

4e
X

usl_4eX:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

15.2

15.4

15.6

15.8

16

16.2

16.4

16.6

16.8

us
l_

4e
Y

usl_4eY:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

32.5−

32.4−

32.3−

32.2−

32.1−

32−

31.9−

31.8−

31.7−

us
l_

12
X

usl_12X:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

6387

6387.5

6388

6388.5

6389

6389.5

6390

6390.5

6391

ru
n

run:cyclenum {run == 6389}



6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

112−

110−

108−

106−

104−

us
r_

1X
usr_1X:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

1.07

1.08

1.09

1.1

1.11

1.12

us
r_

4a
Y

usr_4aY:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

149

150

151

152

153

154

155

156

157

158

us
r_

4e
X

usr_4eX:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

13.8

14

14.2

14.4

14.6

14.8

us
r_

4e
Y

usr_4eY:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

34.6−

34.4−

34.2−

34−

33.8−

33.6−

33.4−

us
r_

12
X

usr_12X:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

6387

6387.5

6388

6388.5

6389

6389.5

6390

6390.5

6391

ru
n

run:cyclenum {run == 6389}



6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

16600

16650

16700

16750

16800

16850us
l_

co
il1

usl_coil1:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

3280

3300

3320

3340

3360

3380

us
l_

co
il3

usl_coil3:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

3200

3250

3300

3350

3400

3450

3500

3550

3600

us
l_

co
il4

usl_coil4:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

880−

870−

860−

850−

840−

830−

us
l_

co
il6

usl_coil6:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

12750

12800

12850

12900

12950

13000

13050

13100

13150

us
l_

co
il7

usl_coil7:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

6387

6387.5

6388

6388.5

6389

6389.5

6390

6390.5

6391

ru
n

run:cyclenum {run == 6389}



6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

16940−

16920−

16900−

16880−

16860−

16840−

16820−

16800−

16780−

16760−

us
r_

co
il1

usr_coil1:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

3190−

3180−

3170−

3160−

3150−

3140−

3130−

us
r_

co
il3

usr_coil3:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

2900

3000

3100

3200

3300

3400

3500

3600

3700

us
r_

co
il4

usr_coil4:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

664−

663−

662−

661−

660−

659−

658−

657−

us
r_

co
il6

usr_coil6:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

14950

15000

15050

15100

15150

15200

15250

15300

15350

15400

us
r_

co
il7

usr_coil7:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

6387

6387.5

6388

6388.5

6389

6389.5

6390

6390.5

6391

ru
n

run:cyclenum {run == 6389}



6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

447−

446−

445−

444−

443−

442−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

70.2−

70−

69.8−

69.6−

69.4−

69.2−

69−

68.8−

68.6−

68.4−

68.2−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

21.5

22

22.5

23

23.51X
_c

oi
l7

1X_coil7:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

477−

476.5−

476−

475.5−

475−

474.5−

474−

473.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

88.2−

88.18−

88.16−

88.14−

88.12−

88.1−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

20

20.5

21

21.5

22

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6389}



6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

172

172.5

173

173.5

174

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

36.5

36.6

36.7

36.8

36.9

37

37.1

37.2

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

8.5−

8−

7.5−

7−

6.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

181.5

182

182.5

183

183.5

184

184.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

26.1−

26−

25.9−

25.8−

25.7−

25.6−

25.5−

25.4−

25.3−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

7−

6.5−

6−

5.5−

5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6389}



6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

237−

236−

235−

234−

233−

232−

12
X

_c
oi

l1
12X_coil1:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

84.2−

84−

83.8−

83.6−

83.4−

83.2−

83−

82.8−

82.6−

82.4−

82.2−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

4−

2−

0

2

4

6

8

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

6.4

6.5

6.6

6.7

6.8

6.9

7

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

427.1−

427−

426.9−

426.8−

426.7−

426.6−

426.5−

426.4−

426.3−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6389}

6124 6124.2 6124.4 6124.6 6124.8 6125
cyclenum

6387

6387.5

6388

6388.5

6389

6389.5

6390

6390.5

6391

ru
n

run:cyclenum {run == 6389}
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